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A. Derive the firm’s supply curve, expressing quantity
as a _function of price.

B, Derive the industry’s supply curve if New England
Textiles is one of 500 competitors.
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1. Producer surplus
2. Engel curve
3. Wealth of Nations

4, Expansionary monetary policy
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Smith and Jones comprise a two-person economy. Their hourly rates of production are shown below.

Good Smith Jones
Computers 10 ]
Calcuiators 100 120

1. The opportunity cost of an extra calculator for Smith is and for Jones it is
A) 0.10 computers; 0.05 computers D) 0.6 computers; 1.2 computers
B) 10 computers; 6 computers E) 0.05 computers; 0.10 computers

C) 1 computer; 0.5 computers

2. Suppose the price of doughnuts decreases and doughmit holes are a by-product of producing
doughnuts. One would expect
A) the supply of doughnuts to decrease.
B) the quantity supplied of doughnuts to decrease.
C) the supply of doughnut-heles to increase.
D) the quantity supplied of doughnut-holes to increase.
E) the quantity supplied of doughnuts to increase.

3.. Satellite TV is a close substitute for cable TV. In the l999's smali satellite TV units were developed
that made it more practical for individual consumers to subscribe to Satellite TV service. This caused
the price elasticity of demand for cable TV service to

A} become more inelastic. D) become smaller in absolute value.

B) become less elastic, E) shift to the left.

C) become more elastic.

4.. JoJo is shopping for a new coﬁ-nputer. A mail-order computer can be delivered to JoJo's home for
$1,200. JoJo could pick up the same computer at the warehouse for $1,000. How should JoJo
decide?

A) Jolo should definitely drive to the warehouse because the monetary cost is $200 lower.

B) JoJo should drive to the warehouse if the value of his travel time plus wear and tear on his car is
less than $200.

C) Jolo should drive to the warehouse if the vﬂue of his trave] time is less than $200.

D) Jolo shouid definitely have the computer delivered, because the $200 saving is less than 20%
of the purchase price.

E) JoJo should definitely drive to the warehouse because the $200 saving is more than 10% of the

purchase price.
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5.. According to the cost-benefit principle, you should switch to another task or job when
A) the benefit from performing the new task just exceeds the benefit from continuing to perform the

original task.

B) the benefit from performing the new task just exceeds the opportunity cost of performing that
new task.

C) your productivity at the first task has diminished to the point at which the benefit from continuing
with that task is just less than the benefit you would receive by performing the new task.

D) the opportunity cost of performing the original task just exceeds the benefit of performing the
original task.

E) All of the above.

Suppose that a firm is located along a river.  The firm uses water from the river to cool its machinery
and returns the water to the river several degrees warmer, which has led to a decline in the fish
population downstream of the firm.
6. The damage to the downstream fish is a{n)

A) relevant cost of production.

B) irrelevant cost of production because fish are not participants in the economy.

C)  relevant cost of production only if the firm is charged a fine for the damage done.

D)  relevant cost of production only if there are commercial fishing activities downstream.

E)  implicit cost of production which the firm will take into account in determining profit

maximizing output.

7. Russell Crowe's economic rent from starring in a movie is equal to the difference between
A)  his initial offer and his final salary, including royalties.
B) his initial offer and the what he could earn in a different film.
©)  his final salary and the avérage for leading actors.
D)  his final salary and the least he would be willing to accept for a role.
‘E) the amount he earned in his last film, and the lowest offer he received this year.
8.. Which of the following is NOT an example of a good with network economies?

A) A camera phone D)  Computer operating systems

B) An internet connection E)  Text messaging capabilities
C) A computer printer

(3 B4 B )
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Cory
Strategy A Strategy B
Jess Strategy A T Jess: +5, Cory: +5 Jess: 0, Cory. -5
Strategy B Jess: +10, Cory: 0 Jess: -5, Cory: +10

9.. In the matrix above,
A)  Jess has a dominant strategy, but Cory does not.
B) Cory has a dominant strategy, but Jess does not.
C) ~ both Cory and Jess have the same dominant strategy.
D)  neither Cory nor Jess has a dominant strategy.
E) Cory and Jess have different dominant strategies.

10 If the market equilibrium quantity is greater than the socially optimal quantity, one can infer that
A)  the private supply curve for the activity is to the left of the socially optimal supply curve.
B) the private demand curve for the activity is below the socially optimal demand.
C)  the production of this good has a positive externality.
D)  the production of this good has a negative externality.
E) the production of this good has no externality.

11. Which of the following statement is normative?
A) The interest rate increases are the result of Federal Reserve actions to decrease the money
supply.
B) A large budget surplus is likely to lower interest rates.
C)  Higher taxes are needed to support education.
D)  High taxes tend to decrease saving.
E) Trade deficits frequently occur in conjunction with budget deficits.

12. Which of the following is an example of a final good ?
A)  New computer software sold to a computer manufacturer for installation in new compiters
B)  The services provided by lawyerstoa computer manufacturer
()} Computer chips sold to a computer manufacturer for installation in new computers
D) A new computer sold to a business firm. '
E) Hard drives sold to a computer manufacturer for installation in new computers

13. When statisticians fail to take into account improvements in the quality of goods and services, the

CPI will tend to the rate of inflation,
A) understate B) precisely measure C) beunrelatedtoc D) overstate E) be

indexed to
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14. If 40 percent of the population in a country is employed and average labor productlvxty equals
$50,000, then real GDP per person equals:
A) $20,000 B) $40,000 C) $50,000 D) $50,040 E) $125,000

15.. Which of the following is an example of frictional unemployment?
A)  Dora lost her job when the textile mill closed. She does not have skills to work in another
industry and has been unemployed for over a year.
B)  Marsha was laid off from her job with the airline because the recession has reduced the
demand for airline travel. She expects to get her job back when the economy picks up.
C) George is an unskilled worker who mows lawns in the summer, but is unemployed the rest of
the year.
D) Mike, an unskilled worker, had a job as sweeping the floors in a store until his employer fired
him when the minimum wage was increased. He has been unemployed for several months since.
E) Hector looked for a job for five weeks after finishing college. He turned down several jobs
that didn't use his skills, but now has a job requiring the expertise he gained in coliege.

16. Which of the following policies could be expected to increase private saving?
A) increase the income tax.
B) increase the tax rate on capital gains,
C)  provide more generous Social Security retirement benefits.
D) - reduce the size of down payments needed to buy a house.
E)  replace the income tax with a consumption tax.

1 7. When the Fed sells government securities, the banks";
A} reserves will increase and lending will expand causing an increase in the money supply.
B)  reserves will decrease and lending will contract causing a decrease in the money supply.
C)  reserve requirements will increase and lending will contract causing a decrease in the money

supply.
D)  reserves/deposit ratio will increase and lending will expand causing an increase in the money

supply.
E) reserves/deposit ratio will decrease and lending will contract causing a increase in the money

supply.
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The cyclical unemployment rate is zero when;

A) there is a recessionary gap.

B) there is an expansionary gap.

C)  the output gap equals zero.

D)  frictional unemployment equals structural unemployment,

E) the sum of frictional and structural unemployment equals zero,

Automatic stabilizers are provisions in the law that imply automatic______in government spending
or __ intaxes when real output increases.

A) increases; increases D)  decreases; decreases

B) increases; decreases E)  decreases; increases

C)  no change; no change

When Argentines increase their savings in U.S. dollars, the U.S. money:
A) supply curve shifis left. D) demand curve shifts lefi.

B) supply curve shifts right. E) demand curve shifts right,
C) supply and demand curves shift left.




